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Each row operation: 1 move
Each determinant: 1 move
Each expansion across a row or column: 1 move
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Each row operation: 1 move
Each determinant: 1 move
Each expansion across a row or column: 1 move
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Candy for 3 moves or less



Each row operation: 1 move
Each determinant: 1 move
Each expansion across a row or column: 1 move

-1 0 2 |
-2 1 4 2 .
det 0o 1 i —il T 1-—-7i
1 0 2 3
Candy for 5 moves or less.
2 i 3 i 4
2i 5 3/ 6 4
det |2 (6+1i) 3 (7+1) 4
5 8 9 (i+1) (i+2)
5 8 9 5 -7

Candy for 3 moves or less



det

w O 0~ O

2
0
10
(5+1)
I

(8+1)
0
10/
—7

O - O O W

O O O O N



0 2
1 0

det [8 10
9 (5+1i)
3

Candy for 3 moves or less

(8+1)
0
10/
—7
0

O - O O W

O O O O N



0 2 (8+i) 3 4
1 0 0 00
det [8 10 10/ 0 0| =—40i
9 (5+i) -7 i 0
3 0 00

Candy for 3 moves or less



